
%HDFK�7HQQLV�:RUOG�7HDP�&KDPSLRQVKLSV

:HHN�RI
���$8*�����

&LW\�&RXQWU\
0RVFRZ��586

0DWFKHV�RI�7KXUVGD\�����������

�
3KLOLSSH�*URV�

�

&RXUW

&RXUW�� ,WDO\>�@ 5XVVLD ����

-XQLRUV���*URXS�%
���$XJ�����

�*' ��������������
5(1=,��*LXOLD
0$5,277,��,UHQH *$/(1.2��$QQD

.8',129$��(OL]DYHWD
�

�%' ��������������
%26&2/2�0(1(*82/2��)LOLSSR
%$/',1,��1LFROR .8'5,1��0LURQ

32.,',1��'DQLLO
�

�;' ��������������
$1'5(2/,1,��/XFD
)5$1&(6&21,��(OHQD 9$/,729$��$ULQD

$%5$029��9ODGLVODY
�

�

&RXUW

&RXUW�� 5XVVLD>�@ 6DQ�0DULQR ����

2SHQ���0DLQ�'UDZ
���$XJ�����

�:' ��������������
���*/,0$.29$��,ULQD
���&+85$.29$��'DULD ���&2/211$��0DULND

���*5$1',��$OLFH
�

�0' ���������������������
���.837629��6HUJH\
���%850$.,1��1LNLWD ���%20%,1,��1LFROR

���*$//,��$OYLVH
�

�;' ��������������
���%850$.,1��1LNLWD
���&+85$.29$��'DULD ���*5$1',��$OLFH

���%20%,1,��1LFROR
�

�

&RXUW

&RXUW�� *HUPDQ\>�@ %UD]LO>�@ ����

2SHQ���0DLQ�'UDZ
���$XJ�����

�:' ��������������
���.(0.(6��/DXUD
���%,*/0$,(5��0DUDLNH ���&257(=��-RDQD

���0,,//(5��5DIDHOOD
�

�0' ���������������������
���5,1*/67(77(5��0DQXHO
���5,1*/67(77(5��%HQMDPLQ ���)(55(,5$��0DUFXV�9LQLFLXV

���6$1726��7KDOHV�2OLYLHUD
�

�;' �����������������
���5,1*/67(77(5��0DQXHO
���%,*/0$,(5��0DUDLNH ���0,,//(5��5DIDHOOD

���)217��9LQLFLXV
�

�

&RXUW

&RXUW�� )UDQFH *HUPDQ\ ����

-XQLRUV���*URXS�$
���$XJ�����

�*' ��������������
%5$<��0DwUp
%$55$8��/ROD 6&+$$/(��&ULVWLQD

675$8&+0$11��)HOLFLD
�

�%' ��������������
/$+21'(6��7KpR
&+28;��$PDGpR 08//(5�'(�$+1$��/HR

6&+$$/(��0DUWLQ
�

�;' ��������������
/$+21'(6��7KpR
%5$<��0DwUp +800(/��&KDUOL]H

386/$7��5DOI
�

�

&RXUW

&RXUW�� ,WDO\>�@ (VWRQLD ����

2SHQ���0DLQ�'UDZ
���$XJ�����

�:' ��������������
���*$63$55,��*LXOLD
���%$&&+(77$��)HGHULFD ���/$77,.��(QHOL

���/$77,.��.DWOLQ
�

�0' ��������������
���&$5/,��/XFD
���&$33(//(77,��0LFKHOH ���/$8%(��$LQDU

���3,+/��3ULLW
�

�;' ��������������
���*$5$9,1,��0DUFR
���'$,1$��)ODPLQLD ���/$77,.��(QHOL

���3,+/��3ULLW
�



%HDFK�7HQQLV�:RUOG�7HDP�&KDPSLRQVKLSV

:HHN�RI
���$8*�����

&LW\�&RXQWU\
0RVFRZ��586

0DWFKHV�RI�7KXUVGD\�����������

�
3KLOLSSH�*URV�

�

&RXUW

&RXUW�� -DSDQ>�@ )UDQFH>�@ ����

2SHQ���0DLQ�'UDZ
���$XJ�����

�:' ��������������
���7$.$+$6+,��7RPRPL
���0,<$6$.$��0LVD ���+2$5$8��0DWKLOGH

���+2$5$8��0DULH�(YH
�

�0' ������������������
���*2'$��6DWRVKL
���<$0$0272��1DRDNL ���*8(*$12��0DWKLHX

���/(5867(��*XLOODXPH
�

�;' ��������������
���<$0$0272��1DRDNL
���1$.$*$:$��6KLRPL ���*8(*$12��0DWKLHX

���+2$5$8��0DWKLOGH
�

�

&RXUW

&RXUW�� &\SUXV $UXED>�@ ����

2SHQ���0DLQ�'UDZ
���$XJ�����

�:' �����������������5HW�
���76$..,6728��0DULDQQD
���76$**$5,'28��$QGULD ���+22*(1'$0��$QQH

���+230$1��'RPLQLTXH
�

�0' ��������������
���921,$7,6��&KULVWRV
���*(25*,28��'HDQ ���&$6752��6DQGHU

���6$0$5'=,&��$NVHO
�

�;' Z�R�
���*(25*,28��'HDQ
���76$**$5,'28��$QGULD ���+22*(1'$0��$QQH

���&$6752��6DQGHU
�

�

&RXUW

&RXUW�� 3RUWXJDO 9HQH]XHOD>�@ ����

2SHQ���0DLQ�'UDZ
���$XJ�����

�:' ��������������
���$/(;$1'5,12��&DWDULQD
���&81+$��0DQXHOD ���',$=��3DWULFLD

���$&267$��0HOLVVD
�

�0' ��������������
���32/21,$��%UXQR
���0$,2��3HGUR ���*8('(=��5DPRQ

���&2/0(1$5(6��$OL
�

�;' 1RW�3OD\HG�

�

&RXUW

&RXUW�� 6SDLQ 3RODQG ����

2SHQ���0DLQ�'UDZ
���$XJ�����

�:' ��������������>����@�
���0,5$1'$��&DUROLQD
���*$5&,$��0DUWD ���$'$06.$��$OHNVDQGUD

���0,.2/$-&=8.��6\OZLD
�

�0' ��������������>����@�
���52'5,*8(=��*HUDUG
���38(17(�)251(��6DQWL ���32/.26=(.��'DQLHO

���72.$5=��-DNXE
�

�;' ������������������
���52'5,*8(=��*HUDUG
���0,5$1'$��&DUROLQD ���0,.2/$-&=8.��6\OZLD

���72.$5=��-DNXE
�

�

&RXUW

&RXUW�� 9HQH]XHOD>�@ (J\SW ����

-XQLRUV���*URXS�$
���$XJ�����

�*' ��������������
'(*:,7=��,YDQD
&257(=��0DUFHOD $%(/.$5,0��)DUDK

02+$0('��0DULDP
�

�%' ��������������
12%,/(��-RVH
)(51$1'(=��&DUORV %$/%$$��+XVVHLQ

0$.5$0��$OLHOGLQ
�

�;' ��������������
&$5$'211$��.DWHULQD
)(51$1'(=��&DUORV $%(/.$5,0��)DUDK

%$/%$$��+XVVHLQ
�



%HDFK�7HQQLV�:RUOG�7HDP�&KDPSLRQVKLSV

:HHN�RI
���$8*�����

&LW\�&RXQWU\
0RVFRZ��586

0DWFKHV�RI�7KXUVGD\�����������

�
3KLOLSSH�*URV�

�

&RXUW

&RXUW�� 1HWKHUODQGV /DWYLD ����

2SHQ���0DLQ�'UDZ
���$XJ�����

�:' ��������������
���9$1�+$$67(5(1��)OHXU
���1(95/.$��0DUWLQD ���)5(,0$1(��$ULQD

���7806(9,&$��1DWDOMD
�

�0' ��������������
���9$1�6/227(1��5RQDOG
���%227��3LHWHU ���$1'(56216��0DNVLPLOLDQV�1LNODVV

���5,%$.296��1LNLWD
�

�;' ��������������
���9$1�6/227(1��5RQDOG
���1(95/.$��0DUWLQD ���)5(,0$1(��$ULQD

���0$.6,0296��$QGUHMV
�

�

&RXUW

&RXUW�� (VWRQLD %UD]LO>�@ ����

-XQLRUV���*URXS�%
���$XJ�����

�*' ��������������
80$/��0HUOLVVD
5$+1,��+HOHQD 1(5<��/XDQD

3('5,1,�0$'58*$��*LRYDQQD
�

�%' ��������������
1,5.��5REHUW
/2+086��:LOOLDP /8=�&$5,$1,��*LRYDQQL

3$521(772�58662��$XJXVWR
�

�;' ��������������
1(/.��/DXUL
381*$5��5LLQX�0DULD 7+20621�'(�628=$��$QWRQLD

,*1$&,2�0(/2��-RDR�3HGUR
�

�

&RXUW

&RXUW�� 6RXWK�$IULFD 7KDLODQG ����

2SHQ���0DLQ�'UDZ
���$XJ�����

�:' ��������������
���-(6.(��+HOJD
���'$9,'621��%URQZ\Q ���-$1.,$:��&KDWPDQHH

���-$1.,$:��1DSDZZ
�

�0' ��������������
���/(':$%$��)UDQV
���%522.6+$:��5\DQ ���3877$5$.6$.8/��&KD\DQLQ

���6$(:21*��6DNGD
�

�;' ��������������
���92567(5��7XFNHU
���-(6.(��+HOJD ���-$1.,$:��1DSDZZ

���3877$5$.6$.8/��&KD\DQLQ
�

�

&RXUW

&RXUW�� &KLOH 0RURFFR ����

2SHQ���0DLQ�'UDZ
���$XJ�����

�:' ��������������>����@�
���9$5$6��'DUOLQJ
���25(//$1$�5,9(5$��0DULD�3D] ���%(1$%'(/-$/,/��&DPHOLD

���%(1$%'(/-$/,/��6DUD
�

�0' ��������������
���6(38/9('$��0DWLDV
���52-$6��3DEOR ���0(',1$��$GLO

���%28$28'$��$QDV
�

�;' ���������������������
���%586$'(//,��9LFHQWH
���9$5$6��'DUOLQJ ���%28$28'$��$QDV

���%(1$%'(/-$/,/��&DPHOLD
�

�

&RXUW

&RXUW�� /LWKXDQLD 0ROGRYD ����

2SHQ���0DLQ�'UDZ
���$XJ�����

�:' ��������������>����@�
���9,62&.<7(��0DULMD
���%$1$,7<7(��9LNWRULMD ���580($17(9$��6WDQLVODYD

���=$,&(1&2��$OH[DQGUD
�

�0' ��������������
���0$&,16.$6��6NLUPDQWDV
���0$&,16.$6��(OLJLMXV ���'2/*232/,,��$UWLRP

���720$5729��$UWXU
�

�;' �����������������
���%$1$,7<7(��9LNWRULMD
���0$&,16.$6��(OLJLMXV ���720$5729��$UWXU

���=$,&(1&2��$OH[DQGUD
�



%HDFK�7HQQLV�:RUOG�7HDP�&KDPSLRQVKLSV

:HHN�RI
���$8*�����

&LW\�&RXQWU\
0RVFRZ��586

0DWFKHV�RI�7KXUVGD\�����������

�
3KLOLSSH�*URV�

�

&RXUW

&RXUW�� %XOJDULD 6ZLW]HUODQG ����

2SHQ���0DLQ�'UDZ
���$XJ�����

�:' ��������������
���.$5$.86+(9$��0DULD
���0,7(9$��'L\DQD ���/(8(1%(5*(5��1DGMD

���/(8(1%(5*(5��6DUDK
�

�0' ��������������
���%21&+(9��%RULVODY
���1(17&+(9��5RVHQ ���0(17+$��$UQDXG

���7+20(7��3DWULFN
�

�;' ��������������
���0,7(9$��'L\DQD
���%21&+(9��%RULVODY ���0(17+$��$UQDXG

���/(8(1%(5*(5��6DUDK
�


